T y=x>-8x+a® I} x=Tt] WHO xFEIT6, b

27

@ 12 ® 13 @ 14 ® 15



2. e I oIS y = f(x) o Tefmolet,
of Mz ThE Al o] e




Ady =x+40° 3
SRRy
@® 4x+4y=9

@ —-4x-4y=5

@ 4x-4y=9

® —-dx-4y=-5

@ —4dx+4y=9



28, o8 A

{0} =4f(x) -39
@© 174 @ 274
@ 47H @ 67H

y=[(2)
4|--
y=3
2
JE— y=1
6] T




@ k>4 @ 3<k<4

® 0<k<4



Oty = x4+ 6x+5 9 HAGS M,y = 2x* - 12x - 4 9
e molet & wl, M—m & gk FoHH?

@® 28 @ 30 ® 32 @ 34 ® 36



7. Oy =2x2—dx+1+k 9 X5Fke] 4 A wf, k o] 3L Fotol=t

D R
3%



or

Q

<

3

MT

rAO

=)

ol

™

iy

Q

l_l

x

S

l_l

zvaA )

I W

o

o !

< ﬁ

o d

(-

T oT

[l

o T
XS

)

XS

ol em



9.

oty = ax® + bx + ¢ O LI OF F 2SS BT

H, a+ b - c 9] gh= F5Fei =t

o
—

=

=

T A (=3, 0), (=5, 0) oA g},

© #g:3tol -2 ol

3

D L
=%

st



10. x© W7t -3<xr<2 D, oAFS y = ¥ - 20— 1 9] ARG
M, A5G m oItk M+ m 9] 22

® 11 @ 12 ® 13 @ 14 ® 15



11, ol%84 y = 2 4 ka + k ©) 215Z4S m olat & 1), m ©] RS
Jatolat,

D
=%



12.

o

A~
T
9

fx)=x*—4dx+ 2] a1 < x <4 oA f(f(x)) 9 257k



® 100

® 25 @ 81

@ 21

11



14. xy27b A5 o), B A0) Hoghs Tstolel.

dx—-x2-y2-72+5




A 7= A4 xyoll dist] 2x -y = x=a,y =8

pul
o
—571-

=k olwl, m+ a + B2 27



O 60m

@ 70m

AL W m Q7
@ 80m @ 90m

® 100m



17.

ol m_ln

¢

ol FAE] WolE b=t & W, a+ b o] F& TStz

D R
=%

d9] Zol7k 20em 9 BAE FRH RAB RFS w5 D
Fok 2B Golvt Ak HES oh 2R u



18. HEz]E9] Zo|7} 2 9 AHEY OAB 9 3 AB
el ZAOP = 60° 7} H|l=& H P & AT}
ol ff, A& OA Y& 22 ol= A Q o st
0Q° +PQ’ 9] A&ghe?

15

® 7

13
@147 )
@Z ®

N O]



19.

T 744 0] 1kgell 2000 €] HZ] 11715 1kgoll 3000 A4 HofolH
Soll 100kg & B & 91o™ 1kgoll 1094 o 7HA-& W wfjotet
wufFo] 3kg A F7FoAL 1kgoll 10 94 ol 7}A& 22 wfjujct
wofjgo] skg X Hadirial gt

lkgoll p A Hoje o, 5}-79] o]of& A2 & 4= 9= p o wh&
TEPA? (T W7 EA 2 10 9 SRR Q4 B Qe 2 4 9lot)

1 - O

D 2600¥ @ 2670¢ @ 2700¥
@ 27504 ® 2800¢



B

__OT
N

__oT
N

__OT
N

L
<

o

__o_l
N



